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Variables and Algebraic Expressions
	# of Seconds
	Distance Covered (feet)

	1
	60

	2
	

	3
	

	4
	

	5
	


1. The fastest dinosaur might have been the Ornithomimus, which could run about 60 feet in a second!  

a) Complete the table at the right showing the relationship between the number of seconds and the distance covered by an Ornithomimus.

b) How far would the Ornithomimus travel in 12 seconds?

c) How far would the Ornithomimus travel in 20 seconds?

d) How far would the Ornithomimus travel in s seconds?  Give the answer in terms of s.
	Weight of Watermelon
	Total Weight of Two Fruits

	2
	

	4
	

	7
	

	10
	

	13
	


2. A watermelon weighs m kg and a pineapple weighs 2 kg.   
a) Complete the table at the right showing the relationship between the weight of the watermelon and the total weight of the two fruits combined.

b) Express the total weight of the fruits in terms of m.
c) If m = 4, find the total weight of the fruits.

d) If m = 6, find the total weight of the fruits.
3. Sumin bought a box of pens and a book for a total of $x.  The box of pens cost $2.50.
	Total Cost of Both Items
	Cost of the Book

	5
	

	9
	

	10
	

	12.75
	

	15
	


a) Complete the table at the right showing the relationship between the total cost for both items and the cost of the book.

b) Express the cost of the book in terms of x.

c) If x = 20, find the cost of the book.

d) If x = 22.50, find the cost of the book.
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	Height
	Area 

	0
	

	1
	

	2
	

	5
	

	10
	


4. Max had a piece of fabric in the shape of a parallelogram. The parallelogram had a base of 
[image: image1.wmf]4

3

2

 inches and a height of h inches.  

a) Complete the table at the right showing the relationship 

between the height of the parallelogram and its area.

b) Express the area of the fabric in terms of h.

c) If h = 
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 inch, find the area.

d) If h = 1.8 inches, find the area.

5. Consider the following line segment.  




a) Circle the algebraic expression below that corresponds to the length of the dotted line.

(i)  4x


(ii)  x – 4 

(iii)  
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(iv)  4 + x

b) If x = 4, determine the length of the dotted line.

c) If x = 
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, determine the length of the dotted line.

d) If x = 6.7, determine the length of the dotted line.

6. Consider the following line segment.



a) Circle the algebraic expression below that corresponds to the length of the dotted line.

(i)  4x


(ii)  x – 4 

(iii)  
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(iv)  4 + x

b) If x = 4, determine the length of the dotted line.

c) If x = 
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, determine the length of the dotted line.

d) If x = 6.7, determine the length of the dotted line.
x inches
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4 inches
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